



St. Louis County, Minnesota

Date of Report: 5/17/2025 10:24:38 PM

General Details

 Parcel ID:
 141-0050-02905

 Document:
 Abstract - 01502969

 Document:
 Torrens - 1086495.0

Document Date: 12/19/2024

Legal Description Details

Plat Name: HIBBING

Section Township Range Lot Block

Description: NW1/4 EXCEPT Railroad Right of Way AND Govt Lot 3

Taxpayer Details

Taxpayer Name UNITED STATES STEEL CORPORATION

and Address: C/O RYAN LLC

1 PPG PL STE 2810 PITTSBURGH PA 15222

Owner Details

Owner Name KEETAC HOLDINGS LLC

Payable 2025 Tax Summary

2025 - Net Tax \$326.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$326.00

Current Tax Due (as of 5/16/2025)

Due May 15		Due October 15	•	Total Due		
2025 - 1st Half Tax	\$163.00	2025 - 2nd Half Tax	\$163.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$163.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$163.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$163.00	2025 - Total Due	\$163.00	

Parcel Details

Property Address: School District: 701
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code Homestead Land Bldg Total Def Land Def Bldg Net Tax (Legend) Status EMV EMV EMV EMV EMV Capacity										
234	0 - Non Homestead	\$4,600	\$0	\$4,600	\$0	\$0	-			
580	0 - Non Homestead	\$173,100	\$79,400	\$252,500	\$0	\$0	-			
572	0 - Non Homestead	\$5,000	\$0	\$5,000	\$0	\$0	-			
	Total: \$182,700 \$79,400 \$262,100 \$0 \$0 192									





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:24:38 PM

			Land Do	ataile		
Deeded Acres:	195.54		Land D	cialis		
Waterfront:	193.54					
Water Front Feet:	0.00					
Water Code & Desc:	0.00					
Gas Code & Desc:	-					
Sewer Code & Desc:	-					
Lot Width:	0.00					
Lot Depth:	0.00					
•		um ov quality	Additional lat	information can be	found at	
The dimensions shown are n https://apps.stlouiscountymn.	.gov/webPlatsIframe/f	rmPlatStatPop	Up.aspx. If the	nere are any question	ons, please email PropertyTa	ax@stlouiscountymn.gov.
		Improven	nent 1 Det	tails (CRUSHEF	₹)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
MANUFACTURING	1975	6,75		6,750	-	H - HEAVY
Segment	Story	Width	Length	Area	Foundati	
BAS	1	45	150	6,750	FOUNDAT	ION
		Improven	nent 2 Det	ails (CRUSHER	₹)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
MANUFACTURING	1975	6,93	30	6,930	-	H - HEAVY
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	45	154	6,930	FOUNDAT	ION
		Improveme	ant 2 Data		ND)	
Improvement Type	Year Built	Main Flo		ils (WHSE/SHC Gross Area Ft ²	Basement Finish	Style Code & Desc.
Improvement Type WAREHOUSE	1975	Walli Fic		4,728	Dasement rinish	Style Code & Desc.
Segment	Story	Width	Length	Area	- Foundati	- on
BAS	3(0) y	6	8 8	48	FOUNDAT	
BAS	1	60	78	4,680	FOUNDAT	
DAG	<u>'</u>			<u> </u>		ION
		Improvem	ent 4 Det	ails (12X58 OF	C)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
OFFICE	1990	69	6	696	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	12	58	696	FLOATING	SLAB
		Improvem	ent 5 Det	ails (10X45 OF	C)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
OFFICE	1990	45	0	450	-	- -
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	10	45	450	FLOATING	SLAB
		Improveme	nt 6 Doto		26/	
Improvement Type		•		ils (CONVEYOR	•	Style Code 9 Dese
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
MATERIALS STORAGE	1975	9,67		9,672	-	MC - MATL CLSD
	Story	Width	Length	Area	Foundati	on
Segment	•		•			
Segment BAS	1	13	312	4,056	PIERS AND FO	OTINGS





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:24:38 PM

		Improvem	ont 7 Do	40:10 /44VCO LITE	\				
<u>-</u>		-		tails (44X69 UTL	•				
Improvement Type	Year Built		or Ft ²	Gross Area Ft ²	Basement Finish				
UTILITY	1975	3,864 3,864		-	EQP - LT EQUIP				
Segment	Story	Width	J		Foundati				
BAS	1	12	69	828	FLOATING				
BAS	1	44	69	3,036	FOUNDAT	TION			
Improvement 8 Details (40X80 UTL)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
UTILITY	2010	3,20	00	3,200	-	LT - LT UTILITY			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	40	80	3,200	FLOATING	SLAB			
		Improvem	ent 9 De	tails (20X40 UTL	.)				
Improvement Type	Year Built	-	or Ft ²	•	•	Style Code & Desc.			
UTILITY	1980	800)	800	-	LT - LT UTILITY			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1			800	FLOATING	SLAB			
		Improveme	ent 10 De	etails (20X30 UT	L)				
Improvement Type	Year Built	•	or Ft ²	•	•	Style Code & Desc.			
UTILITY	1980	600	•	600	Dasement i inisii	LT - LT UTILITY			
_	Story				- Foundat				
Segment BAS	3.07y 1		30	Area 600	FLOATING				
DAG	ı	20	30	000	FLOATING	SLAD			
		•		etails (12X30 UT	•				
Improvement Type	Year Built			Gross Area Ft ²	Basement Finish				
UTILITY	1970	360	-	360	-	LT - LT UTILITY			
Segment	Story			Area	Foundat	ion			
BAS	1	12	30	360	POST ON GF	ROUND			
		Improveme	ent 12 De	etails (12X32 UT	L)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
UTILITY	1970	384	4	384	=	LT - LT UTILITY			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	12	32	384	POST ON GF	ROUND			
		Improveme	ent 13 De	etails (13X20 UT	L)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
UTILITY	1970	260		260	-	LT - LT UTILITY			
Segment	Story	Width	Length		Foundati	ion			
BAS	1	13	20	260	POST ON GF				
			4445						
luanus and Tona	Vaan Duile	-		etails (12X12 UT	•	Chula Cada 9 Daga			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
UTILITY	1970	144		144	- 	LT - LT UTILITY			
Segment	Story	Width	Length		Foundati				
BAS	1 	12	12	144	POST ON GF	KOUND			
		-		etails (9X10 UTL	.)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
UTILITY	1970	90		90	-	LT - LT UTILITY			





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:24:38 PM

Segment	t Story	Width	Length	Area		Founda	ation	
BAS	1	9	10	90		POST ON (GROUND	
		Improvem	ent 16 De	tails (12X20 U	TL)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Base	Basement Finish Style Code 8		ode & Desc
UTILITY	1980	24	0	240		-	LT -	LT UTILITY
Segment	t Story	Width	Length	Area		Founda	ation	
BAS	1	12	20	240		POST ON (GROUND	
		Improven	nent 17 De	etails (PARKIN	G)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Code & D			ode & Desc
PARKING LOT	1985	46,8	350	46,850		- ASPHA		ASPHALT
Segment	t Story	Width	Length	Area		Foundation		
BAS	0	0	0	46,850	-			
	S	ales Reported	to the St.	Louis County	Auditor			
No Sales informati	on reported.							
		As	ssessmen	nt History				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Blo EN	-9	otal MV	Def Land EMV	Def Bldg EMV	Net Tax Capacit
	234	\$4,600	\$0	0 \$4	,600	\$0	\$0	-
	580	\$173,100	\$79,	400 \$25	2,500	\$0	\$0	-
2024 Payable 2025	572	\$5,000	\$(0 \$5	,000	\$0	\$0	-
		· ' · · · · · · · · · · · · · · · · · ·						

Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Det Bldg EMV	Net Tax Capacity
	234	\$4,600	\$0	\$4,600	\$0	\$0	-
	580	\$173,100	\$79,400	\$252,500	\$0	\$0	-
2024 Payable 2025	572	\$5,000	\$0	\$5,000	\$0	\$0	-
	Total	\$182,700	\$79,400	\$262,100	\$0	\$0	192.00
	234	\$4,500	\$0	\$4,500	\$0	\$0	-
	580	\$164,400	\$79,400	\$243,800	\$0	\$0	-
2023 Payable 2024	572	\$5,000	\$0	\$5,000	\$0	\$0	-
	Total	\$173,900	\$79,400	\$253,300	\$0	\$0	190.00
	234	\$4,200	\$0	\$4,200	\$0	\$0	-
	580	\$153,400	\$79,400	\$232,800	\$0	\$0	-
2022 Payable 2023	572	\$4,000	\$0	\$4,000	\$0	\$0	-
,	572	\$3,400	\$0	\$3,400	\$0	\$0	-
	Total	\$165,000	\$79,400	\$244,400	\$0	\$0	232.00
	234	\$3,400	\$0	\$3,400	\$0	\$0	-
	580	\$122,700	\$79,400	\$202,100	\$0	\$0	-
2021 Payable 2022	572	\$4,000	\$0	\$4,000	\$0	\$0	-
	573	\$3,400	\$0	\$3,400	\$0	\$0	-
	Total	\$133,500	\$79,400	\$212,900	\$0	\$0	148.00

Tax Detail History

Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV
2024	\$310.00	\$0.00	\$310.00	\$9,500	\$0	\$9,500
2023	\$424.00	\$0.00	\$424.00	\$11,600	\$0	\$11,600
2022	\$288.00	\$0.00	\$288.00	\$7,400	\$0	\$7,400





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:24:38 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.